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fREEE 1826|F8 EH 8 A1 DE RoUvy » 7 32




BIIERFERL VWERR—Y RAREKER [FTEH]

vy |KR& 3] BAVKS | F#HES (HE #8 B4z Enizd
1861|F1E RHE L fE22 5188 Bt 100m 1 1 147081
1862| &% BEAT L fE27 DE fEE 100m 3 4 15033
1863|i% {@AER L fE27 DE fEE 100m 3 1 145026
1864|/Mik SRRED £ fE27 DE Bt 50m 1 4 87032
1865 MH E#& L fE27 DE Bt 50m 2 2 7784
1866|f8E FHR E fE27 DE Lt 200m 1 2 28%040
1867|ILAN %A S fE27 DE Bt 50m 2 1 8729
1868|EAF #HW> S fE27 DE Lt 200m 1 1 33761
1869 LIl 3B S fE27 DE Lt 200m 1 4 427025
1870|#1# IHEIR S 72 DE VYT ARY L 5m 13 5:5 0:7m48
1871|ILA B E:} 72 DE VYT 4RY L 5m 14 6:2 2:17m51
1872| K4 33 8 A1 DE Royvyg z 2 237
1873| 8L # £ fE27 DE Lt 800m 1 9 35318%b42
1874|EL FH 8 A1 DE Royvy IF 5 161
1875| B EHL E fE27 DE Bt 100m 4 1 15§14
1876 ;T4 BEH 8 A1 DE Royvy z 1 336
1877|HEA BF % A1 D Rouvy z 3 153
1878 AR XF % A1 D RoUvy z 2 212
1879| 4 BIR 5 fE27 DE Bt 50m 3 3 TR61
1880| LA Eth 5 =27 DE BEE vIME-IR 2 3 52m87
#HA HE 5 518 DE =ik 1 5
REg 0t %z 518 DE =ik 1 5
f=> L] 518 DE k23 4 x
EE Bt %z 518 DE =ik 1 5
dt# FF %z k26 LE Kik BEHfZ50m 1 2 153047556
AR CHKER 5 518 DE =ik 2 5
REEHE BR EER E:] 218 DE =k 1 5
Bl - E: k26 L& Kik BEHfZ50m 1 1 36760
hiE £ E: k26 L& Kik BEH#fZ50m 1 2 427923




BIIERFERL VWERR—Y RAREKER [FTEH]

iR tory |K& 3] BAVKS | F#HES (HE #8 B4z Enizd %
INEEE 1896|iBE A fE27 DE Bt 800m 1 8 35316%b28
INEEE 1897|i% Il IEX L fE27 DE Bt 100m 4 4 18%026
INEEE 1898|iZA &G £ fE27 DE Bt 50m 2 7 138077
INEEE 1899|/NF SBAED £ fE27 DE B b oML 2 7 19m58
INEEE 1900|#1E F £ fE27 DE Bt 100m 4 3 16%036
INEEE 1901 | FH BR S fE27 DE Bt 100m 2 3 18%007
INEEE 1902 |/t AR S fE27 DE Bt 200m 1 3 397436
INEEE 1903| =T MK} £ fE27 DE B b oML 2 8 15m93
INEEE 1904| F4% #hk £ fE27 DE Bt 50m 4 3 7767
INEEE 1905| KR A S fE27 DE Bt SIOEBE 1 1 1m48
INEEE 1906 | Bt BH £ fE27 DE Lt 800m 1 5 253527063
INEEE 1907| /MK K— E fE27 DE Bt 100m 4 2 15%061
INEEE 1908|i%iB & E fE27 DE Bt 400m 1 5 15309749
INEEE 1909| RE BE £ fE27 DE Lt 400m 1 2 153047013
INEEE 1910|477E B S fE27 DE Bt 50m 2 4 9Fb81
INEEE BE 43} E:} 518 DE =ik 1 3

INEERE Bk F %z 518 DE =ik 2 5

INFEEERE kB BD % 518 DE k23 1 2

INFEEERE 0 BE % 518 DE k24 2 3

INFEEERE N BERE L] 519 RS4EL | H5k 1 5

INETRE WA B E:] 519 XML | =Bk 1 5
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iR tuiry |K4 3] BAVKS | F#HES (HE #8 B4z Enizd %
RILEE 1931|;thMA B fE27 DE Bt 400m 1 4 153067583

RILEE 1932| LIl IREE L fE27 DE Bt 800m 1 4 253477083

RILEE 1933| ki £ fE27 DE fEE 100m 4 =

RILEE 1934|#5K RK L fE27 DE B b oML 2 6 23m30

Rl 1935| @+ BX L] K27 b BEE 100m 4 5 197598
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iR tuiry |K4 3] BAVKS | F#HES (HE #8 B4z Enizd %
g & HBE 5 L] 518 DE =5 2 3

REEHE 1956 |k FTE S fE27 DE Bt 400m 1 2 153367573
REEE 1957 (luA RE S fE27 DE B b oML 1 3 23m53
REEE 1958|a#t Eth £ k27 DE Bt 50m 3 4 8%035
REEHE MR #x S 518 DE =ik 2 3

REEHE 1959|1F E 3} £ fE27 DE B b YoM LI 1 3 32m62
REEHE 1960|# =i £ fE27 DE B b oML 1 2 34m68
REFEE 1961 (3KR Hfk & A1 DE RoUvy z 8 66
REEHE 1962| k% B £ 72 DE VYT 4RY L 5m 12 3:5 3:12m04
REFEE 1963 |LLRE EA 8 A1 DE Royvy z 3 177
REEHE 1964| 1L FERIR E fE27 DE B b YoM LI 1 8 10m99
REEHE 1965|541 Fik E:} 72 DE VYT 4RY L 5m 14 =
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iR tory |K& 3] BAVKS | F#HES (HE #8 B4z Enizd %
FOEE HORAE 14 518 |SEK 1 3

HaE# 2001 |#A K FEfF £ k27 DE Bt 400m 1 6 15346791

HaEE 2002|/NEF HBA £ k27 DE Bt 800m 1 6 353067066

FOEE FANT FT7INAYE NAR ] s18 W £ 1 5




